Case Study 1

1. What is max PAS?
a.PAS 1-2
b. PAS 3-4
c. PAS 5-6
d. PAS 7-8

2. What is the PAS frequency modifier?
a. Single event
b. Single+

c. Intermittent (on multiple but <50% of trials
on a single consistency)

d. Chronic (majority 250% of thin liquid trials
and/or on >1 consistency)

3. What is the PAS amount modifier?

a. Trace (resembles faint coating, droplets or
trickle of barium on/below TVF)

b. Neither trace nor gross

c. Gross (>25% of bolus volume)

4. What is the DIGEST safety grade?
a.So
b.S1
c.S2
d.S3
e. 5S4
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2. What is the PAS frequency modifier?

a. Single event

b. Single+

c. Intermittent (on multiple but <50% of trials
on a single consistency)

d. Chronic (majority 250% of thin liquid trials
and/or on >1 consistency)

3. What is the PAS amount modifier?

a. Trace (resembles faint coating, droplets or
trickle of barium on/below TVF)

b. Neither trace nor gross

c. Gross (>25% of bolus volume)

4. What is the DIGEST safety grade?
a.So
b.S1
c.S2
d.S3
e. 54
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2. What is the PAS frequency modifier?
a. Single event
b. Single+

c. Intermittent (on multiple but <50% of trials
on a single consistency)

d. Chronic (majority 250% of thin liquid trials
and/or on >1 consistency)

3. What is the PAS amount modifier?

a. Trace (resembles faint coating, droplets or
trickle of barium on/below TVF)

b. Neither trace nor gross

c. Gross (>25% of bolus volume)

4. What is the DIGEST safety grade?
a.So
b.S1
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d.S3
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